Arduino-ны қолдана отырып, енгізілген басқару жүйесі
Arduino PID контроллері
• PID дискретті алгоритмін табыңыз (қалам мен қағазды қолдана отырып) - немесе сізде қолданыстағы алгоритм бар шығар
• Arduino бағдарламалауының көмегімен PID алгоритмін жүзеге асырыңыз
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Кері байланыс (PID) басқару жүйесі
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Sensor

- Анықтама мәні, SP (орнату нүктесі), SV (орнатылған мән)
- Өлшеу мәні (MV), процесс мәні (PV)
- Анықтама мәні мен өлшеу мәні арасындағы қате (= -)
- Мазасыздық, процесті басқаруды қиындатады
- PID параметрлері
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Differentiating and applying the Backward differentiation method gives:













This is just one Example. You may
implement another algorithm if you prefer.
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The starting point of deriving the discrete-time PID controller is the
continuous-time PID (proportional + integral + derivate) controller:

K, [t
u(t) = uo + Kpe(t) + % / edr + KpTué(t) (19)

i Jo
where g is the control bias or manual control value (to be adjusted by the

operator when the controller is in manual mode), u is the controller output
(the control variable), e is the control error:

e(t) = r(t) —y(t) (20)

where r is the reference or setpoint, and y is the process measurement.

Solving for u(ty) finally gives the discrete-time PID controller:

ulty) = u(tk—1) + [uo(t) — uo(tx—1)]

+Kp le(tr) — e(tr-1)]
4 K;Ts (tx)

[e(tk) —2e(tg—1) + e(ty—2)]

(33)

The discrete-time PID controller algorithm (30) 1s denoted the absolute or
positional algorithm. Automation devices typically implements the
incremental or velocity algorithm. because it has some benefits. The
incremental algorithm is based on splitting the calculation of the control
value into two steps:

1. First the incremental control value Au(ty) 1s calculated:

Au(ty) = [ug(ts) — uo(ta—1)] (34)
+1\: [e(tx) — e(ta—1)] (35)
+22Le(r,) (36)

+5;— felth) — 2eltir) +eltna)]  (37)

2. Then the total or absolute control value is calculated with

u(ty) = u(tp—1) + Au(ty) (38)

The summation (38) implements the (numerical) integral action of the PID
controller.




